Evaluation of Barrel Resolution



About Final plot,

e Re-definition of GammaTime

— Weighted mean time of Csl which compose
cluster

e Vertex Time Difference

— TVTZ_BarreI — TVTZ_CsI
* Tyrz cs1is Mean of Vertex Time of 5g

— With selection of deposited energy

* Vertex Time Difference between gammas on
Csl

_ TVTZ_CsI - TVTZ_CsI_ith_gamma
* Tyrz csl ith gamma 1S Vertex Time of ith gamma

* 5 plots for one selection



Revised Time Vertex Difference
distribution
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Csl Time with deposited energy on

barrel
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Vertex Time Difference
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Evaluated 5gamma resolution
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Run by Run

h
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Run by Run (Run64)
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Current status of Inner Barrel
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Csl status in Run69 IB
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Csl
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Discrepancy between MC and data
in Run69

* No accidental overlay is applied on MC

— Does accidental events affect on timing
resolution?

h

Entries 53481

e Selection of accidental windovw i

104 RMS  1.801

* Not So effective.

Blue 1®rom Trigger window

* Hit selection of IB could red: From Accidental window (front)
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summary

e Need to check accidental effect on IB hit
selection

* Hit selection study of IB?



